This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 4 - Castle Douglas and Crocketford

3,761

3

941

Stage 1

| Candidate Name | Affiliation | No. of Ballot Papers |
|---------------------|------------------------------------|----------------------|
| lain HOWIE | Independent | 901 |
| David JAMES | Scottish Conservative and Unionist | 1,346 |
| Lucy MCKIE | Scottish Labour Party | 264 |
| George PRENTICE | Independent | 365 |
| Paul John TAYLORSON | Scottish Green Party | 129 |
| John Lachlan YOUNG | Scottish National Party (SNP) | 756 |
| | | |
| | Total | 3,761 |

Candidate David JAMES Elected with 1,346 votes, being in excess of the quota of 941

This report contains the transfers results.

Stage 2 - Surplus of David JAMES

| Action | Total No. of Ballot Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to Iain HOWIE | 442 | 0.30089 | 132.99338 |
| Transfer to David JAMES | 0 | 0.00000 | 0.00000 |
| Transfer to Lucy MCKIE | 143 | 0.30089 | 43.02727 |
| Transfer to George PRENTICE | 288 | 0.30089 | 86.65632 |
| Transfer to Paul John TAYLORSON | 62 | 0.30089 | 18.65518 |
| Transfer to John Lachlan YOUNG | 19 | 0.30089 | 5.71691 |
| Value of non-transferable ballot papers | | | 117.95094 |
| | Total | | 405.00000 |

This report contains the transfers results.

Stage 3 - Surplus of Iain HOWIE

| Action | Total No. of Ballot Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to Iain HOWIE | 0 | 0.00000 | 0.00000 |
| Transfer to David JAMES | 0 | 0.00000 | 0.00000 |
| Transfer to Lucy MCKIE | 48 | 0.02706 | 1.29888 |
| Transfer to Lucy MCKIE | 95 | 0.08993 | 8.54335 |
| Transfer to George PRENTICE | 273 | 0.02706 | 7.38738 |
| Transfer to George PRENTICE | 416 | 0.08993 | 37.41088 |
| Transfer to Paul John TAYLORSON | 14 | 0.02706 | 0.37884 |
| Transfer to Paul John TAYLORSON | 86 | 0.08993 | 7.73398 |
| Transfer to John Lachlan YOUNG | 3 | 0.02706 | 0.08118 |
| Transfer to John Lachlan YOUNG | 116 | 0.08993 | 10.43188 |
| Value of non-transferable ballot papers | | | 19.72701 |
| | Total | | 92.99338 |

This report contains the transfers results.

Stage 4 - Exclusion of Paul John TAYLORSON

| Action | Total No. of Ballot Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to Iain HOWIE | 0 | 0.00000 | 0.00000 |
| Transfer to David JAMES | 0 | 0.00000 | 0.00000 |
| Transfer to Lucy MCKIE | 2 | 0.02706 | 0.05412 |
| Transfer to Lucy MCKIE | 13 | 0.08993 | 1.16909 |
| Transfer to Lucy MCKIE | 8 | 0.30089 | 2.40712 |
| Transfer to Lucy MCKIE | 34 | 1.00000 | 34.00000 |
| Transfer to George PRENTICE | 2 | 0.02706 | 0.05412 |
| Transfer to George PRENTICE | 18 | 0.08993 | 1.61874 |
| Transfer to George PRENTICE | 20 | 0.30089 | 6.01780 |
| Transfer to George PRENTICE | 18 | 1.00000 | 18.00000 |
| Transfer to John Lachlan YOUNG | 22 | 0.08993 | 1.97846 |
| Transfer to John Lachlan YOUNG | 2 | 0.30089 | 0.60178 |
| Transfer to John Lachlan YOUNG | 63 | 1.00000 | 63.00000 |
| Value of non-transferable ballot papers | | | 26.86677 |
| | Total | | 155.76800 |

This report contains the transfers results.

Stage 5 - Exclusion of Lucy MCKIE

| Action | Total No. of Ballot Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to Iain HOWIE | 0 | 0.00000 | 0.00000 |
| Transfer to David JAMES | 0 | 0.00000 | 0.00000 |
| Transfer to George PRENTICE | 25 | 0.02706 | 0.67650 |
| Transfer to George PRENTICE | 47 | 0.08993 | 4.22671 |
| Transfer to George PRENTICE | 56 | 0.30089 | 16.84984 |
| Transfer to George PRENTICE | 85 | 1.00000 | 85.00000 |
| Transfer to Paul John TAYLORSON | 0 | 0.00000 | 0.00000 |
| Transfer to John Lachlan YOUNG | 24 | 0.08993 | 2.15832 |
| Transfer to John Lachlan YOUNG | 11 | 0.30089 | 3.30979 |
| Transfer to John Lachlan YOUNG | 85 | 1.00000 | 85.00000 |
| Value of non-transferable ballot papers | | | 157.27867 |
| | Total | | 354.49983 |

This report contains the transfers results.

Stage 6 - Exclusion of George PRENTICE

| Action | Total No. of Ballot Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to Iain HOWIE | 0 | 0.00000 | 0.00000 |
| Transfer to David JAMES | 0 | 0.00000 | 0.00000 |
| Transfer to Lucy MCKIE | 0 | 0.00000 | 0.00000 |
| Transfer to Paul John TAYLORSON | 0 | 0.00000 | 0.00000 |
| Transfer to John Lachlan YOUNG | 76 | 0.02706 | 2.05656 |
| Transfer to John Lachlan YOUNG | 142 | 0.08993 | 12.77006 |
| Transfer to John Lachlan YOUNG | 89 | 0.30089 | 26.77921 |
| Transfer to John Lachlan YOUNG | 130 | 1.00000 | 130.00000 |
| Value of non-transferable ballot papers | | | 457.29246 |
| | Total | | 628.89829 |